HEXEHWIST EHI1EFEER [314E3F26 A RS4SHMER BE] ERR31E2H14H
B 31 E1 9B ~FR314E12831H BEHE B[
#H 2ER +%8 # B TEFEAM) EE o]
1A AT 1,313,185 1 {875 -HPE S
: e £38% (3H) st 80,000
2| E2E 1,200,000 2 Bk _-HAOEE GRS
TRHB1ERNTIRESEE054) | 610,000 FiE -BWOSTE 14 100,000
T3 1EFESEINA(2954) 590,000 FAEOXRE CAIRS
BHISTEEE 1K 20,000
3| F & 300,000 BRSO ERESERE 6% 120,000
ETIE
4|KTC3E it 0 R AL I —315F—L 200,000
I -ORYERAREIAELEAL 150,000
Al 5[FES£HE 20 -EFE  -HEENEM 60,000
2 BlE HASEHRUS@eEmEE0  |1iozErxy 350,000
B o mmEnsmEFEl) 425,000 BER  -RERSBOBESSMES 0 [s2lnsimsxh 50,000
6-1 FAREFNESMEGBH) 150,000 AR e AEABHGAFHEEE W55 L5R1T 30,000
x LA T RO 5,000
62| HREZROBFESSMEW2A) 50,000 O pBsE S BO ST KYHRIE th 158, 162 300,000
& SEESHE  -EEE GHSH11A12H) 4% 80,000
6-3 REXBRORESSMEOAR) 60,000 ‘RESEBE -EEE.GEERRKRME 0A) 10,000
BiEL  CERSnHBESenEexew |-siosmrry 90,000
6-4| EHRREOBHESSMEG. 10A)| 165,000 JESeEs  -EXEE GH,10A) 10,000
BERE  ERSEOEHESEMEEXN [-40EErX 261,000
-SEHERNR -JIJRNFSE GAIA108)  |[AnemcEs 0
7| IR AE 3,238,205 SEMEXE  -PRIES 40,000
2558 ST 30,000
BB ik 1] XiEE HRXE 60,000
BTy | 1R R SR 1,730,000 REET HERXHREHE. AR 60,000
A | 2| HEMANZESE(ERELUED) 600,000 4ERE 10,000
= 3[R AGH 2,330,000 | 5|miE/iER 10,000
g % 1 FR31EFERALE(30585) . 610,000 6| FiE REEEEBRES 40,000
| | 2|Z0MM 0
&R 3| HEE 610,000 7| 1,072,205
ESIBERUINRERE 1,720,000 8| X HET 3,238,205

XMASBBRAOSIZTRE BBEECRFBLFEFTOTTOERELT. SNEBLADETIHT S,
XABEREHBE . PETZCRFRLETOTZORALLT. REBMBLADETIHTS,




